

APLICA LAS PROPIEDADES

CONMUTATIVA

$$1 \ 5 \ 6 \ + \ 5 \ 7 = \boxed{} \ + \ \boxed{} = \boxed{}$$

$$1 \ 1 \ 6 \ \times \ 8 \ 7 = \boxed{} \ \times \ \boxed{} = \boxed{}$$

ASOCIATIVA

$$(\boxed{} \ + \ \boxed{}) \ + \ \boxed{} = \boxed{} \ + \ \boxed{} = \boxed{}$$

$$77 \ + \ 62 \ + \ 17 = (\boxed{} \ + \ \boxed{}) \ + \ \boxed{} = \boxed{} \ + \ \boxed{} = \boxed{}$$

Resultado paréntesis

Resultado paréntesis

$$(\boxed{} \ + \ \boxed{}) \ + \ \boxed{} = \boxed{} \ + \ \boxed{} = \boxed{}$$

Resultado paréntesis

$$(\boxed{} \ \times \ \boxed{}) \ \times \ \boxed{} = \boxed{} \ \times \ \boxed{} = \boxed{}$$

$$7 \ \times \ 28 \ \times \ 5 =$$

$$(\boxed{} \ \times \ \boxed{}) \ \times \ \boxed{} = \boxed{} \ \times \ \boxed{} = \boxed{}$$

Resultado paréntesis

$$(\boxed{} \ \times \ \boxed{}) \ \times \ \boxed{} = \boxed{} \ \times \ \boxed{} = \boxed{}$$

Resultado paréntesis

$$(\boxed{} \ \times \ \boxed{}) \ \times \ \boxed{} = \boxed{} \ \times \ \boxed{} = \boxed{}$$

Resultado paréntesis

DISTRIBUTIVA

$$57 \ \times \ (16 \ + \ 2) = 1^a \ \boxed{} \ \times \ \boxed{} = \boxed{} \ 2^a \ \boxed{} \ \times \ \boxed{} \ + \ \boxed{} \ \times \ \boxed{} = \boxed{} \ + \ \boxed{} = \boxed{}$$

$$74 \ \times \ (77 \ - \ 18) = 1^a \ \boxed{} \ \times \ \boxed{} = \boxed{} \ 2^a \ \boxed{} \ \times \ \boxed{} \ - \ \boxed{} \ \times \ \boxed{} = \boxed{} \ - \ \boxed{} = \boxed{}$$